6
534
4
1
/
6
2
3
6



N

Mean
S.D.

X2

df

e - Value
constant
R

R2

B

P
SE.B

chi-square test

29



3
(N=534)
(N=534)
16
17
>18
Mean =17.4, SD.=05
100 - 2.99
300 - 3.49
350 - 3.79
380 - 400

(N =508)"

Mean =33 SD.=051 , Median =343 ,1QR=3,00-379,Min = 100, Max =4.00

(N=534)

224
310

312
213

116
150
117
125

164
310

30

419
58.1

17
584
39.9

217
28.1
21.9
234

30.7
69.3



0
1-4
5-12
>12

Mean =66, SD. =637, Medan =4 JQR=0-12, Min =0, Max =2

< 20,000
20,000

(N =534)

(N =53)

(N =59)*

(N =531)*

) (N =533+

164
110
189

1

317
0
6/

185
348

148

318

1711
5/
303

0.7
206
354
133

70.6
169
125

346
65.2

21.1
118
59.6

320
10.7
56.7

3



(N =534)
242 453
292 547
(N =534)

298 5.

174 326

62 116

| 2 19 1 20
HN 534
17 5
33 350
4

2 |



*N

534

(N =52 )

(N=534)
20
89
) 98
37

(Entrance

(N =522 )¢
495
21

174
144
148

60

37
6.7
18.4
61.2

92.7
39
11

32.6
21.0
217
112

33



34

6
(%) (%) (%)
(N =534)

164(435)  3H(522)  25(27.8)

213(565)  32(47.8)  65(72.2)

. = 10708 df=2 » -value = 0,005

(N =534)

117(310)  6(9.0)  41(45.6)

260(69.0)  61(9L0)  49(54.4)

, = 24214 df=2 P-value <0.001

5 (N=508)
100 - 299 13(20.6) 6( 9.0)  37(425)
300 - 349 96(27.0)  26(394)  28(32.2)
350 - 379 84(237)  19(288)  14(16.9)
380 - 400 102287)  15(227) 8(9.2)
X2= 37943 df=6 P-value <0001
(N=534)

12(32) 0(0) 8(8.9)

66(17.5) 8(1L9)  15(16.7
(Entrance ) 69(18.3) 8(1L9)  21(233)

206L0) 5761  46(L1
16894 df=6 P-value = 001



(N=526)

(N=522)

(N=529)

(N=531)

3

107(288) 11(16 ) 2%6(292)
07260)  3(30)  16(180)
0008 758  3(4)

1 = 62164 df=6 P-value <0001

354(96.2)  64(%8.5) 77(86.5)
14(2.4) 1(L5) 12(135)
1 = 15687 df=2 p-1 value< 0.00

112(29.9) 3(4.5) 33(37.5)
43(11.5) 4(6.) 16(18.2)
22058.7)  59(89.41  39(44.3)
1 = 34344 df=4 P-value <0001

12338 600  42(46)
DA 46D 112
210(56 0) 56848  37(LY)

= 31457 df=4 P-value <0001

~ & ()



36

5( )
1 6
(%) (%) (10)
( [ )(N=533)
< 20,000 149(39.6) 15(22.4) 21(23.3)
20,000 227(60.4) 52(17.6) 69(76.7)
X2= 13641 df=2 P-value =0.001
(N =534)

1976523  67(100)  34(378)
180(47.7) 0(0) 56(62.2)
x = 066847 df=2 p-value <0.001

(N=53%)
171(454)  27(40.3) 44(48.9)
06(546)  40(597)  46(5L1)
x = 1145 df=2 P-value = 0.564



37

(N =534)
Mean SD

34.2 6.42

(Median = 34, 1QR = 30-39 , Min= 20, Max = 56 )

120

100

80

60

40

20 std. Dev = 6.42
Mean = 34.2
0 N = 534.00
20.0 25.0 30.0 35.0 40.0 45.0 50.0 55.0

22.5 27.5 32.5 37.5 42.5 47.5 52.5

34.2
20- 60 40



(N = 534)

Mean

32
3.2
2.1

S.D.

0.67
0.71
091

38



Pearson Correlation

39

(N =534)
P-value
0.23 <0.001
0.28 <0.001
0.22 < 0.001

p <0.001



9
Analysis
t*
(N=534)
-2.207
(N=534)
0.647
(N=522)
-1.152
( [ ) (N=533)
< 20,000 -0.236

20,000

df

532

532

520

531

40

Univariate

Sig. (2-tailed)

0.028

0.518

0.250

0.814



9( )
Analysis
t*
(N=534)
-1.097
(N=534)
0.212
* Independent - Samples T Test

p <0.05
X =334SD =6.18

41

Univariate
df Sig. (2-tailed)
532 0.273
532 0.832

X =34.7,SD = 6.54



10

Analysis
F*
(N=534) 2515
(Entrance )
(N=526)
1.184
(N=534)
16.004
(N=529)

2.043

42

Univariate

df  Sig. (2-tailed)

3, 530 0.058
3, 522 0.315
2,531 <0.001
2,526 0.131



10 )

Analysis
P* d f
(N=531)
0.433 2, 528
One-Way ANOVA.
p < 0.001 Post Hoc test Bonferroni statistic
X (SD) 37.6(7.21),33.6(6.03)  33.1(6.02)

43

Univariate

Sig. (2-tailed)

0.648

( p<0.001)

(p = 1.00)



Pearson Correlation (N = 508)

-0.15

44

P -value

0.001

P <001



45

Model p =010 Multiple
Linear Regression Enter V)

p = 0.05 Model Model
13

12 6

Model 1 (N=508)

B SEB p t Sig.

0153 0117 0063 1308 0.192

0227 0063 0177 3633 <0.001
0214 0051 0181 4185 <0001

0845 0558  0.064 1513 0.131

0300 0.794 0016 -0.378 0.705
3516 0747 0204 4704 <0.001

1318 0547 -0.104 -2411 0016

Constant 26872 2.366 11355  <0.001
R =10428 R2=0.183 S.E.est. =5901 F=16021 p- value <0.001



13
Model (N =508)

B SE. B

383 0733

110 0530

5

0.28 0.055

0.22 0.051

Constant 21314 2251

R = 0420 R2=0.177 S.E .est. =5.913 F = 21523

V" = 2731+ 383K 1 110K2+ 028K3+ 02244

6
P t
0.22 5219
-0.08  -2.075
0216  5.052
0189 4416
12.133

46

Sig.

<0.001

0.039

<0.001
<0.001

< 0.001

p-- value < 0.001
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